# SOME GENERATION RESULTS OF INTEGRAL RESOLVENT FOR VOLTERRA EQUATIONS 

AHMED FADILI<br>Laboratory LIMATI<br>Department of Mathematics and Informatics<br>Poly-Disciplinary Faculty<br>Sultan Moulay Sliman University<br>Mghila, PB 592 Beni Mellal<br>Morocco<br>e-mail: ahmed.fadili@usms.ma


#### Abstract

The aim of this paper is to give an extension to a Favard classes for integral resolvent of a scalar Volterra integral equations similar to the one for semigroups and resolvent families (i.e., $k$-regularized resolvent family with $k(t)=1$ ). In fact, we recover several well-known results for semigroups if we consider $a(t)=1$ and for resolvent families if we consider $a(t)$ arbitrary and $k(t)=1$.


## 1. Introduction

The Favard class for semigroups was developed in 1967 by Butzer and Berens presented in the monograph [5], for a very detailed reference, see in the monograph [10]. Applications appear in particular in [9, 21, 24], but are certainly not restricted to this. However, these concepts have

2010 Mathematics Subject Classification: 45D05, 45E05, 47D06.
Keywords and phrases: semigroups, Volterra integral equations, integral resolvent, resolvent family, $k$-regularized resolvent family, Favard spaces.

Received June 26, 2019; Revised September 18, 2019
been slightly introduced to Volterra integral equations in [14, 17, 3], in particular for the semigroup theory the Favard class plays an important role in localization and determination of the space of control operators $p$-admissible (resp., ( $p, q$ )-admissible) for well-posed linear (resp., bilinear) systems in [20, 4].

In this paper, we introduce the Favard spaces for a integral resolvent, extending some of the well-known theorems for semigroup and resolvent family.

In Section 2, we give some preliminaries about the concept of integral resolvent, and the relationship between linear integral equation of Volterra type with scalar kernel.

It is well-known that for a Cauchy problem there are strong relations connecting its semigroup solution and its associated generator. Likewise, for a Volterra scalar problem, there are some results connecting its integral resolvent family and the domain of the associated generator which will be reviewed in Section 2.

In Section 3, we define the Favard spaces for integral resolvent of a scalar Volterra integral equations, and for these spaces we account for some results which are similar to those of semigroups and resolvent families.

## 2. Preliminaries

In this section, we collect some elementary facts about scalar Volterra equations and integral resolvent. These topics have been covered in detail in [23, 17]. We refer to these works for reference to the literature and further information.

Let $(X,\|\cdot\|)$ be a Banach space, $A$ be a linear closed densely defined operator in $X$ and $a \in L_{\text {loc }}^{1}\left(\mathbb{R}^{+}\right)$is a scalar kernel, we consider the linear Volterra equation:

$$
\begin{equation*}
x(t)=\int_{0}^{t} a(t-s) A x(s) d s+f(t), \quad t \geq 0 \tag{2.1}
\end{equation*}
$$

where $f \in \mathcal{C}\left(\mathbb{R}^{+}, X\right)$.

We denote by $[D(A)]$ the domain of $A$ equipped with the graph-norm. We define the convolution product $*$ of the scalar function $a$ with the vector-valued function $f$ by

$$
(a * f)(t):=\int_{0}^{t} a(t-s) f(s) d s, \quad t \geq 0
$$

Definition 2.1 ([23]). A function $x \in \mathcal{C}\left(\mathbb{R}^{+}, X\right)$ is called:
(1) strong solution of (2.1) if $x \in \mathcal{C}\left(\mathbb{R}^{+},[D(A)]\right)$ and (2.1) is satisfied.
(2) mild solution of (2.1) if $a * x \in \mathcal{C}\left(\mathbb{R}^{+},[D(A)]\right)$ and

$$
\begin{equation*}
x=f(t)+A[a * x](t), \quad t \geq 0 . \tag{2.2}
\end{equation*}
$$

Obviously, every strong solution of (2.1) is a mild solution. Conditions under which mild solutions are strong solutions are studied in [23].

Definition 2.2 ([23]). Equation (2.1) is called well-posed if for each $v \in D(A)$, there is a unique strong solution $x(t, v)$ on $\mathbb{R}^{+}$of

$$
\begin{equation*}
x(t, v)=a(t) v+(a * A x)(t), \quad t \geq 0 \tag{2.3}
\end{equation*}
$$

and for a sequence $\left(v_{n}\right) \subset D(A), v_{n} \rightarrow 0$ implies $x\left(t, v_{n}\right) \rightarrow 0$ in $X$ uniformly on compact intervals.

Definition 2.3 ([23]). Let $a \in \mathcal{C}\left(\mathbb{R}^{+}\right)$be a scalar kernel. A strongly continuous family $(R(t))_{t \geq 0} \subset \mathcal{L}(X)$; (the space of bounded linear operators in $X$ ) is called an integral resolvent for Equation (2.1), if the following three conditions are satisfied:
(R1) $R(0)=a(0) I$.
(R2) $R(t)$ commutes with $A$, which means $R(t)(D(A)) \subset D(A)$ for all $t \geq 0$, and $A R(t) x=R(t) A x$ for all $x \in D(A)$ and $t \geq 0$.
(R3) For each $x \in D(A)$ and all $t \geq 0$, the resolvent equations hold:

$$
R(t) x=a(t) x+\int_{0}^{t} a(t-s) A R(s) x d s
$$

Note that the integral resolvent for (2.1) is uniquely determined and further information on an integral resolvent can be found in [17].

We also notice that when $a(t)=1$, then $R(t)$ corresponds to a $C_{0}$-semigroup.

If there exists an integral resolvent for (2.1), then a mild solution of (2.1) may be obtained by the formula

$$
x(t)=f(t)+A \int_{0}^{t} R(t-s) f(s) d s, \quad t \geq 0
$$

Suppose $R(t)$ is an integral resolvent for (2.1), let $f \in \mathcal{C}\left(\mathbb{R}^{+}, X\right)$ and $x \in \mathcal{C}\left(\mathbb{R}^{+}, X\right)$ be a mild solution for (2.1). Then $R * x$ is well-defined and continuous and we obtain from (R3) and (2.1)

$$
a * x=(R-A a * R) * x=R * x-R * A a * x=R * f
$$

hence $R * f \in \mathcal{C}\left(\mathbb{R}^{+},[D(A)]\right)$ and from (2.1), we obtain

$$
x(t)=f(t)+A \int_{0}^{t} R(t-s) f(s) d s, \quad t \geq 0
$$

The following result establishes the relation between well-posedness and existence of an integral resolvent.

In what follows, $\mathcal{R}$ denotes the range of a given operator.
Lemma 2.4 ([17, Theorem 2.4]). (2.1) is well-posed if and only if (2.1) admits an integral resolvent $(R(t))_{t \geq 0}$. If this is the case, we have in addition $\mathcal{R}(a * R(t)) \subset D(A)$, for all $t \geq 0$ and

$$
\begin{equation*}
R(t) x=a(t) x+A \int_{0}^{t} a(t-s) R(s) x d s \tag{2.4}
\end{equation*}
$$

for each $x \in X, t \geq 0$.

From this we obtain that if $(R(t))_{t \geq 0}$ is integral resolvent of (2.1), we have $A(a * R)(\cdot)$ is strongly continuous.

Remark 2.5. Recall from [23, Chapter 1] that given $a \in L_{\text {loc }}^{1}\left(\mathbb{R}^{+}\right)$, a strongly continuous family $(S(t))_{t \geq 0} \subset \mathcal{L}(X)$ is called resolvent family for Equation (2.1), if the following three conditions are satisfied:
(S1) $S(0)=I$.
(S2) $S(t)$ commutes with $A$, which means $S(t) D(A) \subset D(A)$ for all $t \geq 0$, and $A S(t) x=S(t) A x$ for all $x \in D(A)$ and $t \geq 0$.
(S3) For each $x \in D(A)$ and all $t \geq 0$, the resolvent equations hold:

$$
S(t) x=x+\int_{0}^{t} a(t-s) A S(s) x d s
$$

The importance of the resolvent family $S(t)$ is that, if it exists, then the solution $x(t)$ of (2.1) is given by the following variation of parameters formula in [23]:

$$
\begin{equation*}
x(t)=\frac{d}{d t} \int_{0}^{t} S(t-s) f(s) d s \tag{2.5}
\end{equation*}
$$

for all $t \geq 0$, and

$$
\begin{equation*}
x(t)=S(t) f(0)+\int_{0}^{t} S(t-s) f^{\prime}(s) d s \tag{2.6}
\end{equation*}
$$

where $t \geq 0$ and $f \in W^{1,1}\left(\mathbb{R}^{+}, X\right)$, gives us a mild solution for (2.1).
Definition 2.6 ([8]).

- An integral resolvent $(R(t))_{t \geq 0}$ is called exponentially bounded, if there exist $M>0$ and $\omega \in \mathbb{R}$ such that $\|R(t)\| \leq M e^{\omega t}$ for all $t \geq 0$, and the pair $(M, \omega)$ is called type of $(R(t))_{t \geq 0}$.
- The growth bound of $(R(t))_{t \geq 0}$ is $\omega_{0}=\inf \left\{\omega \in \mathbb{R},\|R(t)\| \leq M e^{\omega t}\right.$, $t \geq 0, M>0\}$, if $\omega_{0}<0$ the integral resolvent is called exponentially stable.

Note that, contrary to the case of $C_{0}$-semigroup, an integral resolvent for (2.1) need not to be exponentially bounded (see [8, 23, 17]). However, there is checkable conditions guaranteeing that (2.1) possesses an exponentially bounded integral resolvent.

We will use the Laplace transform at times, suppose $g: \mathbb{R}^{+} \rightarrow X$ is measurable and there exist $M>0, \omega \in \mathbb{R}$, such that $\|g(t)\| \leq M e^{\omega t}$ for almost $t \geq 0$, then the Laplace transform

$$
\hat{g}(\lambda)=\int_{0}^{\infty} e^{-\lambda t} g(t) d t
$$

exists for all $\lambda \in \mathbb{C}$ with $\operatorname{Re} \lambda>\omega$.

A function $a \in L_{\text {loc }}^{1}\left(\mathbb{R}^{+}\right)$is $\omega$ (resp., $\left.\omega^{+}\right)$-exponentially bounded if $\int_{0}^{\infty} e^{-\omega s}|\alpha(s)| d s<+\infty$ for some $\omega \in \mathbb{R}$ (resp., $\omega>0$ ).

The following proposition stated in [23, Theorem 1.4], establishes the relation between an integral resolvent and Laplace transform.

Proposition 2.7. Let $a \in \mathcal{C}\left(\mathbb{R}^{+}\right)$be $\omega$-exponentially bounded then (2.1) admits an integral resolvent $(R(t))_{t \geq 0}$ of type $(M, \omega)$ if and only if the following conditions hold:
(1) $\hat{\alpha}(\lambda) \neq 0$ and $\frac{1}{\hat{\alpha}(\lambda)} \in \rho(A)$, for all $\lambda>\omega$ where $\rho(A)$ is the set resolvent of $A$.
(2) $K(\lambda):=\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1}$ called the resolvent associated to $R(t)$ satisfies:

$$
\sum_{n=0}^{+\infty} \frac{(\lambda-\omega)^{-(n+1)}\left\|K^{(n)}(\lambda)\right\|}{n!} \leq M \text { for all } \lambda>\omega
$$

Under these assumptions, the Laplace-transform of $R(\cdot)$ is well-defined and it is given by $\widehat{R}(\lambda)=K(\lambda)$ for all $\lambda>\omega$.

Assuming the existence of an integral resolvent $(R(t))_{t \geq 0}$ for (2.1), it is natural to ask how to characterize the domain $D(A)$ of the operator $A$ in terms of the integral resolvent. For very special case, the answer to the above question is well-known. For instance, when $a(t)=1$ or $a(t)=t$, $A$ is the generator of a $C_{0}$-semigroup $(\mathbb{T}(t))_{t \geq 0}$ or a cosine family $(C(t))_{t \geq 0}$ and we have:

$$
D(A)=\left\{x \in X: \lim _{t \rightarrow 0^{+}} \frac{1}{t}(\mathbb{T}(t) x-x)=A x\right\}
$$

and

$$
D(A)=\left\{x \in X: \lim _{t \rightarrow 0^{+}} \frac{2}{t^{2}}(C(t) x-x)=A x\right\}
$$

respectively (see [25, 10]).
It was proved in [19, 17] if $|a(t)|$ is continuous and nondescreasing and

$$
\limsup _{t \mapsto 0^{+}} \frac{\|R(t)\|}{|a(t)|}<\infty
$$

that:

$$
\begin{equation*}
D(A)=\left\{x \in X / \lim _{t \rightarrow 0^{+}} \frac{R(t) x-a(t) x}{(a * a)(t)}=A x\right\} \tag{2.7}
\end{equation*}
$$

From now and in view of this result we say that the pair $(A, a)$ is a generator of an integral resolvent $(R(t))_{t \geq 0}$.

## 3. Favard Spaces for an Integral Resolvent with Kernel

The following definition which corresponds to a natural extension, in our context, of the Favard class frequently used in approximation theory for semigroups and resolvent families (see, e.g., [21, 10, 17, 3]).

Definition 3.1. Let (2.1) admits a bounded integral resolvent $(R(t))_{t \geq 0}$ on $X$, for $\omega^{+}$-exponentially bounded $a \in L_{\mathrm{loc}}^{1}\left(\mathbb{R}^{+}\right)$. For $0<\alpha \leq 1$, we define the Favard spaces (frequency and temporal) of order $\alpha$ associated to $(A, a)$ as follows:

$$
\begin{aligned}
F^{\alpha}(A) & :=\left\{x \in X / \sup _{\lambda>\omega}\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\|<\infty\right\}, \\
& =\left\{x \in X / \sup _{\lambda>\omega}\left\|\lambda^{\alpha} A K(\lambda) x\right\|<\infty\right\},
\end{aligned}
$$

and

$$
\widetilde{F}^{\alpha}(A):=\left\{x \in X / \sup _{t>0} \frac{\|R(t) x-a(t) x\|}{\|\left.(a * a)(t)\right|^{\alpha}}<\infty\right\} .
$$

## Remark 3.2.

(i) When $a(t)=1$, we recall that $(R(t))_{t \geq 0}$ corresponds to a bounded $C_{0}$-semigroup generated by $A$. In this situation we obtain

$$
F^{\alpha}(A)=\left\{x \in X / \sup _{\lambda>0}\left\|\lambda^{\alpha} A(\lambda I-A)^{-1} x\right\|<\infty\right\},
$$

and

$$
\widetilde{F}^{\alpha}(A):=\left\{x \in X / \sup _{t>0} \frac{\|\mathbb{T}(t) x-x\|}{t^{\alpha}}<\infty\right\},
$$

and we have $F^{\alpha}(A)=\widetilde{F}^{\alpha}(A)$. This case is well-known (see, e.g., [10]).
(ii) The Favard class of $A$ with kernel $a(t)$ can be alternatively defined as the subspace of $X$ given by

$$
\left\{x \in X / \underset{\lambda \rightarrow \infty}{\limsup }\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\|<\infty\right\} .
$$

As a consequence of $R(t)$ being bounded, the above space coincides with $F^{\alpha}(A)$ in Definition 3.1 and that

$$
\widetilde{F}^{\alpha}(A):=\left\{x \in X / \sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{|(a * a)(t)|^{\alpha}}<\infty\right\} .
$$

Proposition 3.3. Let $a=1+1 * l$ with $l \in B V_{\mathrm{loc}}\left(\mathbb{R}^{+}\right)$; the space of functions of locally bounded variation and $(A, a)$ be a generator of a bounded integral resolvent $(R(t))_{t \geq 0}$ on $X$. In this case,

$$
\widetilde{F}^{\alpha}(A)=\left\{x \in X / \sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{t^{\alpha}}<\infty\right\} .
$$

Proof. We write

$$
\begin{aligned}
\widetilde{F}^{\alpha}(A) & =\left\{x \in X / \sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{|(a * a)(t)|^{\alpha}}<\infty\right\} \\
& =\left\{x \in X / \sup _{0<t \leq 1}\left(\frac{\|R(t) x-a(t) x\|}{t^{\alpha}} \times \frac{t^{\alpha}}{|(a * a)(t)|^{\alpha}}\right)<\infty\right\} \\
& =\left\{x \in X / \sup _{0<t \leq 1}\left(\frac{\|R(t) x-a(t) x\|}{t^{\alpha}} \times\left|\left(\frac{t}{(a * a)(t)}\right)^{\alpha}\right|\right)<\infty\right\} \\
& =\left\{x \in X / \sup _{0<t \leq 1}\left(\frac{\|R(t) x-a(t) x\|}{t^{\alpha}} \times \frac{1}{\left|\left(\frac{(a * a)(t)}{t}\right)^{\alpha}\right|}\right)<\infty\right\}
\end{aligned}
$$

$$
=\left\{x \in X / \sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{t^{\alpha}}<\infty\right\} .
$$

(due to $\lim _{t \rightarrow 0^{+}} \frac{(a * a)(t)}{t}=1$ ).
We prove that $F^{\alpha}(A)$ is stable by $R(t)$ for any scalar kernel $a$.
Proposition 3.4. We have $R(t)\left(F^{\alpha}(A)\right) \subset F^{\alpha}(A)$, for all $\left.\left.\alpha \in\right] 0,1\right]$ and $t \geq 0$.

Proof. For all $x \in D(A)$ and $t \geq 0$, we have by (R2):

$$
A R(t) x=R(t) A x,
$$

then

$$
\frac{1}{\hat{\alpha}(\lambda)} R(t)-A R(t)=\frac{1}{\hat{\alpha}(\lambda)} R(t)-R(t) A,
$$

i.e.,

$$
\left(\frac{1}{\hat{a}(\lambda)} I-A\right) R(t)=R(t)\left(\frac{1}{\hat{a}(\lambda)} I-A\right),
$$

then under Proposition 2.7;

$$
\hat{\alpha}(\lambda) \neq 0 \text { and } \frac{1}{\hat{\alpha}(\lambda)} \in \rho(A),
$$

hence we have

$$
\begin{equation*}
\left(\frac{1}{\hat{\alpha}(\lambda)} I-A\right)^{-1} R(t)=R(t)\left(\frac{1}{\hat{\alpha}(\lambda)} I-A\right)^{-1} \tag{3.1}
\end{equation*}
$$

Now, if $x \in F^{\alpha}(A)$, then

$$
\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\|<\infty,
$$

by (3.1) and the boundedness of $R(t)$, we have

$$
\begin{aligned}
\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} R(t) x\right\| & =\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A R(t)\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\| \\
& =\sup _{\lambda>\omega}\left\|\lambda^{\alpha} R(t) A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\| \\
& \leq\|R(t)\| \times \sup _{\lambda>\omega}\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\| \\
& <+\infty,
\end{aligned}
$$

then $R(t) x \in F^{\alpha}(A)$ for all $t \geq 0$, hence we deduce that $R(t)\left(F^{\alpha}(A)\right) \subset$ $F^{\alpha}(A)$, for all $\left.\left.\alpha \in\right] 0,1\right]$ and $t \geq 0$.

The proof of the following proposition is immediate.
Proposition 3.5. The Favard classes of order $\alpha$ of $A$ with kernel $a(t), F^{\alpha}(A)$ and $\widetilde{F}^{\alpha}(A)$ are Banach spaces with respect to the norms

$$
\|x\|_{F^{\alpha}(A)}:=\|x\|+\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A\left(\frac{1}{\hat{a}(\lambda)} I-A\right)^{-1} x\right\|,
$$

and

$$
\|x\|_{\tilde{F}^{\alpha}(A)}:=\|x\|+\sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{|(a * a)(t)|^{\alpha}},
$$

respectively.
Without loss of generality we may assume that $\int_{0}^{t}|a(t-s) a(s)|^{p} d s \neq 0$ for all $t>0$ and some $1 \leq p<\infty$. Otherwise, we would have for some $t_{0}>0$ and $p_{0} \geq 1$ that $a(t)=0$ for almost all $t \in\left[0, t_{0}\right]:$ and thus by
definition of an integral resolvent $R(t)=0$ for $t \in\left[0, t_{0}\right]$. This implies that $A$ is bounded, which is the trivial case with $X=D(A)$.

In what follows, we will use the following assumption on $a$ such that

$$
\int_{0}^{t}|a(t-s) a(s)|^{p} d s \neq 0
$$

for all $t>0$ and some $1 \leq p<\infty$.
Assumption A1. There exist $\epsilon_{a}>0$ and $t_{a}>0$, such that for all $0<t \leq t_{a}$, we have:

$$
\left|\int_{0}^{t} a(t-s) a(s) d s\right| \geq \epsilon_{a} \int_{0}^{t}|a(t-s) a(s)|^{p} d s .
$$

This is the case for functions $a$, which are positive (resp., $h(I) \subset] 0,1]$, with $h(t)=a(t-s) a(s), s \in[0, t], t \in I)$ at some interval $I=\left[0, t_{a}[\right.$ for $p=1$ (resp., $p>1$ ).

On the other hand, note that for all $a ; \omega^{+}$-exponentially bounded function, it is clear that $(a * a)^{\alpha}$ is also $\omega^{+}$-exponentially bounded (due to $x^{\alpha} \leq 1+x$ for $x \geq 0$ and $\left.\left.\alpha \in\right] 0,1\right]$ ).

We will consider the following assumption on $a \in L_{\mathrm{loc}}^{1}\left(\mathbb{R}^{+}\right)$and $0<\alpha \leq 1$.

Assumption A2. $a$ is $\omega^{+}$-exponentially bounded and there exists $\epsilon_{a, \alpha}>0$, such that for all $\lambda>\omega$

$$
|\hat{a}(\lambda)| \geq \epsilon_{a, \alpha} \cdot \lambda^{\alpha} \cdot \int_{0}^{\infty} e^{-\lambda t}|(a * a)(t)|^{\alpha} d t .
$$

## Example 3.6.

(i) The famous case $a(t)=1$ satisfies the condition of Assumption A2 for all $\alpha \geq 0$ due to

$$
\frac{\lambda^{\alpha}}{\hat{a}(\lambda)} \cdot \int_{0}^{\infty} e^{-\lambda t}((a * \alpha)(t))^{\alpha} d t=\Gamma(\alpha+1) \text { for all } \lambda>0
$$

which corresponds to the semigroup case (here $\Gamma$ denotes the Gamma function).
(ii) Let $a(t)=t^{\beta},-1<\beta<0$. We have $\hat{a}(\lambda)=\frac{\Gamma(\beta+1)}{\lambda^{\beta+1}}$ for all $\lambda>0$, and $(a * a)(t)=\frac{(\Gamma(\beta+1))^{2}}{\Gamma(2 \beta+1)} \cdot t^{2 \beta+1}$ for all $t \geq 0$. Hence

$$
\begin{aligned}
\frac{\lambda^{\alpha}}{\hat{a}(\lambda)} \int_{0}^{\infty} e^{-\lambda t}((\alpha * a)(t))^{\alpha} d t & =\lambda^{\alpha+\beta+1} \cdot \frac{(\Gamma(\beta+1) \Gamma(\beta+1))^{\alpha}}{\Gamma(\beta+1)(\Gamma(2 \beta+1))^{\alpha}} \int_{0}^{\infty} e^{-\lambda t} t^{\alpha(2 \beta+1)} d t \\
& =\lambda^{\beta-2 \alpha \beta} \cdot \frac{(\Gamma(\beta+1))^{\alpha} \Gamma(2 \alpha \beta+\alpha+1)}{(\Gamma(\beta+1))^{1-\alpha}(\Gamma(2 \beta+1))^{\alpha}}
\end{aligned}
$$

Then $a$ satisfy Assumption A2 for $-1<\beta<0$ and $0<\alpha<\frac{1}{2}$.
The following result establishes the relation between the spaces $\widetilde{F}^{\alpha}(A)$ and $F^{\alpha}(A)$ which is similar to [10, Proposition 5.12] and [3, Proposition 4.7].

Proposition 3.7. Let (2.1) admits a bounded integral resolvent $(R(t))_{t \geq 0}$ on $X$, for $\omega^{+}$-exponentially bounded $a \in L_{\text {loc }}^{1}\left(\mathbb{R}^{+}\right)$and $0<\alpha \leq 1$. Assume that there is a constant $N>0$ such that $1 \leq a(t) \leq N$ for all $t \geq 0$.
(i) If a satisfies Assumption $A 1$ with $p=1$, then $F^{\alpha}(A) \subset \widetilde{F}^{\alpha}(A)$.
(ii) If a is non negative satisfying Assumption $A 2$, then $\widetilde{F}^{\alpha}(A) \subset F^{\alpha}(A)$.

## Proof.

(i) Let $x \in F^{\alpha}(A)$ and $0<t \leq 1$. Then $\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A K(\lambda) x\right\|=: K_{x}<\infty$. Using the integral representation of the resolvent (see Proposition 2.7), we obtain

$$
\begin{aligned}
x & =\frac{1}{\hat{a}(\lambda)} K(\lambda) x-A K(\lambda) x \text { for } \lambda>\omega \\
& =x_{\lambda}-y_{\lambda} .
\end{aligned}
$$

Since $x_{\lambda} \in D(A)$ and using (R2) - (R3), we have

$$
\begin{aligned}
\left\|R(t) x_{\lambda}-a(t) x_{\lambda}\right\| & =\left\|\int_{0}^{t} a(t-s) R(s) A x_{\lambda} d s\right\| \\
& \leq \int_{0}^{t}|a(t-s)| \cdot\|R(s)\| \cdot\left\|A x_{\lambda}\right\| d s \\
& \leq M \cdot\left\|A x_{\lambda}\right\| \cdot \int_{0}^{t}|a(s)| d s \\
& =M \cdot\left\|\lambda^{\alpha} A K(\lambda) x\right\| \cdot \frac{1}{\lambda^{\alpha} \hat{a}(\lambda)} \cdot(1 *|a|)(t) \\
& \leq M K_{x} \cdot\left|\frac{1}{\lambda^{\alpha} \hat{a}(\lambda)}\right| \cdot(1 *|a|)(t) .
\end{aligned}
$$

On the other hand, $(R(t))_{t \geq 0}$ and $a(t)$ are bounded by $M$ and $N$, respectively, we have

$$
\begin{aligned}
\left\|R(t) y_{\lambda}-a(t) y_{\lambda}\right\| & \leq\left\|R(t) y_{\lambda}\right\|+\left\|a(t) y_{\lambda}\right\| \\
& \leq\|R(t)\| \cdot\left\|y_{\lambda}\right\|+\mid a(t)\left\|y_{\lambda}\right\| \\
& \leq(M+N) \cdot\left\|y_{\lambda}\right\| \\
& =(M+N) \cdot\|A K(\lambda) x\|
\end{aligned}
$$

$$
\begin{aligned}
& =(M+N) \cdot\left|\frac{1}{\lambda^{\alpha}}\right| \cdot\left\|\lambda^{\alpha} A K(\lambda) x\right\| \\
& \leq(M+N) K_{x} \cdot\left|\frac{1}{\lambda^{\alpha}}\right|
\end{aligned}
$$

This implies

$$
\begin{aligned}
& \frac{\|R(t) x-a(t) x\|}{|(a * a)(t)|^{\alpha}} \leq \frac{M K_{x} \cdot \frac{1}{\lambda^{\alpha} \hat{a}(\lambda) \mid} \cdot(1 *|a|)(t)}{|(a * a)(t)|^{\alpha}}+\frac{(M+N) K_{x} \cdot\left|\frac{1}{\lambda^{\alpha}}\right|}{|(a * a)(t)|^{\alpha}} \\
& \left.\quad \leq \frac{M K_{x}}{\epsilon_{a}^{\alpha}} \cdot \frac{1}{\lambda^{\alpha}|\hat{a}(\lambda)|} \cdot((1 *|a|)(t))^{1-\alpha}+\frac{(M+N) K_{x}}{\epsilon_{a}^{\alpha}} \cdot \right\rvert\, \frac{1}{\lambda^{\alpha} \mid} \cdot((1 *|a|)(t))^{-\alpha} \\
& \quad \leq \frac{M K_{x}}{\epsilon_{a}^{\alpha}} \cdot \frac{1}{|\lambda \hat{a}(\lambda)|} \cdot \lambda^{1-\alpha}((1 *|a|)(t))^{1-\alpha}+\frac{(M+N) K_{x}}{\epsilon_{a}^{\alpha}} \cdot \lambda^{-\alpha}((1 *|a|)(t))^{-\alpha} .
\end{aligned}
$$

The third inequality is realized under: $1 \leq a(t) \leq N$ for $t \geq 0$ and Assumption A1 with $p=1:|(a * a)(t)| \geq \epsilon_{a}(|a| *|a|)(t)$ and that $\left|\frac{1}{\lambda \hat{a}(\lambda)}\right| \leq 1$.
Substituting $\quad \lambda_{t}=\frac{N_{\omega}}{(1 *|a|)(t)}>\omega$ for $\left.\left.t \in\right] 0,1\right]\left(\lambda_{t} \rightarrow \infty\right.$ as $\left.t \rightarrow 0\right)$ with $N_{\omega}=1+\omega(1 *|a|)(1)$, we obtain

$$
\frac{\|R(t) x-a(t) x\|}{|(a * a)(t)|^{\alpha}} \leq \frac{M K_{x} N_{\omega}^{1-\alpha}}{\epsilon_{a}^{\alpha}}+\frac{(M+N) K_{x} N_{\omega}^{-\alpha}}{\epsilon_{a}^{\alpha}},
$$

for all $0<t \leq 1$. Thus $\sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{\|\left.(a * a)(t)\right|^{\alpha}}<\infty$, and hence $x \in \widetilde{F}^{\alpha}(A)$.
(ii) Let $x \in \widetilde{F}^{\alpha}(A)$ be given, then $\sup _{0<t \leq 1} \frac{\|R(t) x-a(t) x\|}{\|\left.(a * a)(t)\right|^{\alpha}}:=J_{x}<\infty$. For $\lambda>\omega$, we write

$$
A K(\lambda) x=\frac{1}{\hat{a}(\lambda)} K(\lambda) x-x,
$$

then

$$
\begin{aligned}
\lambda^{\alpha} A K(\lambda) x & =\frac{\lambda^{\alpha}}{\hat{a}(\lambda)} K(\lambda) x-\lambda^{\alpha} x \\
& =\frac{\lambda^{\alpha}}{\hat{a}(\lambda)}[K(\lambda) x-\hat{a}(\lambda) x] \\
& =\frac{\lambda^{\alpha}}{\hat{a}(\lambda)} \int_{0}^{\infty} e^{-\lambda s}(R(s) x-a(s) x) d s \\
& =\frac{\lambda^{\alpha}}{\hat{a}(\lambda)} \int_{0}^{\infty} e^{-\lambda s} \cdot((a * a)(s))^{\alpha} \cdot \frac{R(s) x-a(s) x}{((a * a)(s))^{\alpha}} d s .
\end{aligned}
$$

The fact that $a$ is satisfying Assumption A2, gives us

$$
\left\|\lambda^{\alpha} A K(\lambda) x\right\| \leq \frac{\left(L_{\alpha}\|x\|+J_{x}\right)}{\epsilon_{a, \alpha}} \text { with } L_{\alpha}=\frac{M+N}{(1 * a)^{\alpha}(1)} .
$$

Therefore, $\sup _{\lambda>\omega}\left\|\lambda^{\alpha} A K(\lambda) x\right\|<\infty$, which ends the proof.

Example 3.8. Let $\alpha \in] 0,1]$.
(i) Let $a(t)=1$. Then $a$ satisfies Assumption A1 with $p=1$. Furthermore $a$ satisfies Assumption A2 (see Example 3.6 (i)) and by virtue of Proposition 3.7 we obtain $F^{\alpha}(A)=\widetilde{F}^{\alpha}(A)$. Hence we recover a result for $C_{0}$-semigroups case which corresponds to [10, Proposition 5.12].
(ii) Let $a(t)=\frac{1}{\sqrt{t}}$ and $\alpha=\frac{1}{3}$. Then $a$ satisfies Assumption A1 with $p=1$. Furthermore $a$ satisfies Assumption A2 (see Example 3.6 (ii)) and by virtue of Proposition 3.7 we obtain $F^{\frac{1}{3}}(A)=\widetilde{F}^{\frac{1}{3}}(A)$.

Remark 3.9. We notice that we have not used the case $p>1$ in the Assumption A1, we will use it in a future work on the notion of admissibility.

## References

[1] W. Arendt, C. J. K. Batty, M. Hieber and F. Neubrander, Vector-Valued Laplace Transforms and Cauchy Problems, Birkhauser Ulm and Oxford and Darmstadt and Batton Rouge, 2010.

DOI: https://doi.org/10.1007/978-3-0348-0087-7
[2] W. Arendt and H. Kellermann, Integrated Solutions of Volterra Integrodifferential Equations and Applications, in Pitman Research Notes in Mathematics, Logman, Harlow/New York 190 (1987), 21-51.
[3] H. Bounit and A. Fadili, Favard spaces and admissibility for Volterra systems with scalar kernel, Electronic Journal of Differential Equations (2015); Article 42, pp. 1-21.
[4] H. Bounit, F. Maragh and H. Hammouri, A class of weakly regular $L^{p}$-well-posed linear systems, European Journal of Control 23 (2015), 8-16.

DOI: https://doi.org/10.1016/j.ejcon.2015.02.001
[5] P. L. Butzer and H. Berens, Semi-Groups of Operators and Approximation, SpringerVerlag, New York, 1967.

DOI: https://doi.org/10.1007/978-3-642-46066-1
[6] I. Cioranescu, Local Convoluted Semigroups, Lecture Notes on Pure and Applied Mathematics, Marcel Dekker, New York 168 (1995), 107-122.
[7] I. Cioranescu and V. Keyantuo, On operator cosine functions in UMD spaces, Semigroup Forum 63(3) (2001), 429-440.

DOI: https://doi.org/10.1007/s002330010086
[8] W. Desch and J. Pruss, Counterexamples for abstract linear Volterra equations, Journal of Integral Equations and Applications (5)1 (1993), 29-45.
[9] W. Desch and W. Schappacher, Some Generation Results for Perturbed Semigroups, in Semigroups Theory and Applications, (Proceedings Trieste 1987); (P. Clément, S. Invernizzi, E. Mitidieri and I. I. Vrabie, Editors), Marcel Dekker, Lecture Notes on Pure and Applied Mathematics 116 (1989), 125-152.
[10] K. J. Engel and R. Nagel, One-Parameter Semigroups for Linear Evolution Equations, New York, Berlin, Heidelberg, 2000.
[11] R. Grimmer and J. Prüss, On linear Volterra equations in Banach spaces, Computers \& Mathematics with Applications 11(1-3) (1985), 189-205.

DOI: https://doi.org/10.1016/0898-1221(85)90146-4
[12] Matthias Hieber, Integrated semigroups and differential operators on $L^{p}$ spaces, Mathematische Annalen 291(1) (1991), 1-16.

> DOI: https://doi.org/10.1007/BF01445187
[13] G. Lumer and I. Cioranescu, On $K(t)$-convoluted semigroups, Pitman Research Notes in Mathematics 324 (1995), 86-93.
[14] M. Jung, Duality theory for solutions to Volterra integral equations, Journal of Mathematical Analysis and Applications 230(1) (1999), 112-134.

DOI: https://doi.org/10.1006/jmaa.1998.6174
[15] H. Kellerman and M. Hieber, Integrated semigroups, Journal of Functional Analysis 84(1) (1989), 160-180.

DOI: https://doi.org/10.1016/0022-1236(89)90116-X
[16] C. Lizama, Regularized solutions for abstract Volterra equations, Journal of Mathematical Analysis and Applications 243(2) (2000), 278-292.

DOI: https://doi.org/10.1006/jmaa.1999.6668
[17] C. Lizama and V. Poblete, On multiplicative perturbation of integral resolvent families, Journal of Mathematical Analysis and Applications 327(2) (2007), 1335-1359.

DOI: https://doi.org/10.1016/j.jmaa.2006.04.087
[18] C. Lizama and H. Prado, On duality and spectral properties of ( $a, k$ )-regularized resolvents, Proceedings of the Royal Society of Edinburgh Section A: Mathematics 139(3) (2009), 505-517.

DOI: https://doi.org/10.1017/S0308210507000364
[19] C. Lizama and J. Sanchez, On perturbation of $k$-regularized resolvent families, Taiwanese Journal of Mathematics 7(2) (2003), 217-227.

DOI: https://doi.org/10.11650/twjm/1500575059
[20] F. Maragh, H. Bounit, A. Fadili and H. Hammouri, On the admissible control operators for linear and bilinear systems and the Favard spaces, Bulletin of the Belgian Mathematical Society 21(4) (2014), 711-732.

DOI: https://doi.org/10.36045/bbms/1414091010
[21] J. M. A. M. Van Neerven, The Adjoint of a Semigroup of Linear Operators, Lecture Notes in Mathematics, Springer-Verlag, Berlin, 1992.

DOI: https://doi.org/10.1007/BFb0085008
[22] J. Prüss, On linear Volterra equations of parabolic type in Banach spaces, Transactions of the American Mathematical Society 301(2) (1987), 691-721.

## DOI: https://doi.org/10.2307/2000666

[23] J. Prüss, Evolutionary Integral Equations and Applications, Birkhäuser-Verlag, Basel, 1993.

DOI: https://doi.org/10.1007/978-3-0348-8570-6
[24] E. Sinestrari, Favard classes and hyperbolic equations, Rendiconti dell'Istituto di Matematica dell'Università di Trieste 28 (1997), 323-336.
[25] Michiaki Watanabe, A new proof of the generation theorem of cosine families in Banach spaces, Houston Journal of Mathematics 10(2) (1984), 285-290.

